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INTERMEDIATE EXAMINATION - 2021 ’;i .
wed feamn ge @ g
Quesiion lluiki-:s (ANNUAL, guxl ,
St Code VE] %
MATHEMATICS {ELECTI 5
L
it (dfes=®) E 3

I. Sc. & 1. A.

Fe1 UvHl ] W& 100 + 30 + 8 = 138 q;jaqfﬁq_@mu@riii
Total No. of Questions : 100 + 30 + 8 = 138 Total No. of Printed Pages @
(quTish © 100)

| Full Marks : 100

(g - 382 15 H92)

| Time -~ 3 Hours 15 Minutes |

getenferal & ford AR - Instructions for the candidates :

7 gyiyTeT OMR 3W¢ WA® UYY HGAT 1. Candidate must enter his / her
oeT ﬁaan FHiE (10 HHT FT) Question Booklet Serial No.
HTIT fored | (10 Digits) in the OMR Answer’

Sheet,

2. el FUaYd 35+ il H & 2. Candidates are required to give their
IG/ answers in their cwn words as far

as practicable.

3 e av elfrd W B9 §T 3% QUIF 3. Figures in the right hand margin
fAfeee #vd &1 indicate full marks.

4. 5 F Eﬂ:f?a%ﬁ a1 & [0 4. 15 minutes of extra time have beer
FeienfErl #1 15 e F1 HIAR® T allotted for the candidates to read

far mar &1 the questions carefully-

5. d8 H¥T 37?35’»7 g @USl 48— @WUE-H 5. This question booklet is divided into
79 Goe-d/ two sections — Section-A and

Section-B.
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@vg o 0 oo aegfre v &l
& frat so gyt @ IAC I
S & (qEe & U1 HE
Frifiar &)1 varg @ sifisd yodl &
3¢ o7 gy gy 50 Il @ gl
i $EEEY &Rt A wEl
397 &1 39 Fd 1 OMR ST
Wﬁﬁﬁnﬁaﬁ?%ﬁvqﬁﬁ#/
s @ a7 @ wme w41 e W
g 9 EETEEAT / aveT qard / &A%
) argE iy T FT-gRAawT 7
gaiT FAT WAT 8 AT RIEr
qfFomT 3T T
gus-a 4 30 org IAG FA B
(giF & oo 2 o Feiiia &), fod
3 =t 15 wwl @1 IO AT
afard &1 a9 ke, 39 @ve °

A there dre 100 ohjective
(uestions ( cach carrying
ottt of which any
to be answered.
will he cvaluated

'8 In Section-
ypo
1 mark)
50 quest' s arc

First 50 answers
L cdse more than

50 questions arc answered. Darken
the circle with blue / b_[ack ball
pen against the correct option on
OMR Answer sheet provided 0 you.
Do not use whitener / liquid /
blade / nail etc. on OMR-sheet,

otherwise the result will be
https://WwWW.b sebstudy.com

by the compuler i

invalid.

there are 30 short

7. In Section-B,
(each

answer type questions
carrying 2 marks), out of which any
15 questions are to be answered.

Apart from this, there are 8 long

8 #7 FIT '
fﬁ;’?ﬂc ‘ Ni.'FI J%'?? 73 8 v( W % answer type questions (each
5 5% Frffeer &), fod @ fa=et carrying 5 marks), out of which any
4 7ot &T 377 a1 &1 4 questions are to be answered.
f7at 9FR & 7
5@;?3’%5 IYHIUT T 8. Use of any electronic appliances is
HAr] ‘ja?iizﬂ o strictly prohibited.
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wug - o / SECTION - A

alﬂliuﬁ / Objective Type Questions |

& omr ¥z 9t fafeTa F¥

50x1=50

g G@ar 1@ 100 7% F T & W@ 9w
5am#$3wr%fm#mg#wwa?ﬁm

1 1 e is correct. Answer any
ur options, out of which only on

Question Nos. 1 to 100 have fo 50 x 1 = 50

s. You have to mark your selected option on the OMR-Sheet.

wod Apnysqasq mmm//:sdny

50 guestion
6 O] &t A= =1 °H €
1. aﬁ'A:[? ﬂ,s:[ls J,\"‘WTA B,d o
a) 1 B) - 1. -
(C) 4 (D) g:fﬁ @ ﬁé
If A= [45('1 ?J, B = [15‘? {ﬂ , when A = B, then the value of a1s
(A) 1 B -1
c 4 (D)  none of these
2. tan'1=
ol B 3
i
N oz
3. cos(sec™ x+cosec”1x)=
Ay 1 B) -1
) 0 o R
J2
4 cos -sin@|_
' sin)  eosO |
(A) cos 20 V(_Bﬂr‘ 1
© o e -1
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cos2x
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(sin x + cos x)?

dx

@) loglsinx+cosX)*E

(A) 2log(sinx +cos X) +C ]
________._———-—-+c
(C) log (sinx— cO8 x)+¢ (D) 8in X + COB X
6. tan! ¥3 - COtth“ﬁ)=
| O
(A) n
o Do 5
(€) )
1 1 2
= 1 1 ,?ﬁ A =
] i
3A
(A) 24 .}B( .
o) T g A&
(C) 27A
1
If A=[II 1 1], then A?=
1
(A) 24 B) 3A
7A (D) none of these
(C) 2
- =
8. a.a= \/‘B/
| 1
(A) O _ )
B 4
© laf? D) lal

9. % |aj=2 3R Ao Tk TS ARw @, @ A FAA R

(B)

o |
o wAWEE
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]”;"52 and Aa 158

(A) 1

(c 2

-

10. xi+y

@A) x2ry’e+z

https://www.bsebstudy.com

:i’+ch’ wm%

2

© Jeryrz

The modulus of x

@) x2

—_ —

vy 422

(C) 1/x+y+z

unit vector then A has the va

1
B} 2

(D)

none of these

1

(D)

i+y j+zkis

B
D)

I S
2

X2yt +z

‘fxg + y2 + 2

N ST

J«:Q+y2-'i-z2

11. %[tanxz)?—
(A) scc x? \,LB')/ 2xsec” x°
2
©)  2x?sec? x? (D) 36;;
d (=
12. a( COtx)-_—'
1
I/W/ e (B) vcosec?x
() — cosec’x (D) EQ.SLC'_?E.
2ycotx 2Jcot x
[ 121/327 ] J [(A)-9003-J40) Page 5 of 32

https://www .bsebstudy.com- -

wod Apnysqasq mmm//:sdny



wod Apnisqasq mmm//:sdny

https://www.bsebstudy.com

3. H%Hi"_1[3x~4x3|}; .............. : :_%5,\5-5
{A] 1 \Bl
1-x?
(C) 3 *
I—JC2
14, %[sin&}= —
B LQSJ"
(A) cosvx ) .
____,_.,.1_0""1\{?‘_
©  Fecosix UV
5. izan
1 B
(A) I+x2 | (B) 1+ ‘_1
1 1
1 1 (D) =TT 3
a3 271 - x”
(C) > 1-x2) (1-x7
_c_f_'r Ihm x" -a" ‘;._
16 dxﬁl_t—!'ﬂ x—-da
fAJ nan—l 'IB} 1
() 0 (D) n
17 d ., sin”! Y=
_ d—x-,sm X +COS X | =
a3 B 0
=
Q1 D) ¥x.3
18. f.ﬁﬁ.:
x -1

(A) log|x-1]+k B) -logll+x|+k

e dogix-1j+k D) logx+k

[ 121/327 | J Page 6 of 32
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3 3 3
- [d%y] .2 L‘i) +<)yﬁ9"“"aﬁﬁf€%
1o, arEehet @HIE | dx
B 4
(A) 3 .
D) 37112[ d &His el

(C) 2

) y et - Quy= S1 E
he differential equation {de] +2[dx] Y

e

The order of t

(A) 3
(C) 2 (D) none of these€
20. Xj _Idxz
x< +1
3 JC3 y
(A) %—+2x+k (B) —3--2x+
3
> X
(C) EZ+x+k I/LD')/ X+ I
21 HFFA GHIFOT xdy +ydx =0 1 &1 €
2 2 x2 y2 i
A —¥—+.92—=k (B) 5 5 " k
Cr xy=k D) T AW

Solution of the differential equation xdy+ydx =0 1is

2 .2 2 2
g XY N

(C) xy=k (D) none of these

| 121/327 ) J |(A)-9003-J¢0) | Page 7 of 32
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| 22. WWM:OWW%

Yy
X =k
(A L=k ® 2 |
c =k (D)
Yy
. ydx —xdY _go is
Solution of the differential equation _._;—2—-—-
X -k
B T2
Y. .
(A) p” k
(D) none of these
~ X -k
- (€) v
= . %
g 23, gl THHT a%+Py-QWHHWW
é | Pdy
§ (A) eJ'de (B) eI
g IQdy
1 \}‘Z/ el D) e
m .
: ' dy .
: . E ion ——+ Py=0Q 18
\; Integrating factor of the differential equation = + Py
o)
E Pdy
a) o B o
d
(C) e“‘de. (D) ejo Y
- .
24. J - ( kK x1 ]:
a7 0 B 1
Y
c -1 D) ]

[ 121/327 ] J |(A)-9003-Jwo) Page 8 of 32
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és. ;;; ;l=
- = (B) [y x z|
A 1z y xl
—_ - = i ;]
(C) [x z Y] 'J'D)/ |z x
26. ai";(e"al =
Vw\/ e’ B 3x%e”
3
(©) 3x2eX D) 3x°e”
d Xy —
27 d—x—ﬂog?; )=
1 (B) log3
SJC
or~ og3 @) 1
28. i(——l—- + exJ =
. dx\smx
1 x ecx+e*
(A) — +e (B) cos
sin” x
(C)  -cosecxcotx +e” (D)  cosecx.cotx+e*
- 2 =2
29, kx(ixj)=
Y -
w0 B) i
- -
€ J (D) k
121/327 |} J [(A)-9003-Ju0) | ,Page 9 of.32
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30. Il()?,:zdx _ i
2 +
A) . (B) o8
x+t K Kk
21 2t
(C) log2 + k (O e
xlogZ +
31. secC X dx=
Isecx+tunx x tanx"secx+k
(B)
(A) tanx +secx+k + K
anXx
o
(C) secx+K
1-cos&X COS2X 4,
32. JI+<.0$.2JL tanx'x+k
(B)
(A) tanx+x+k

(C) x—tan2x4'k

33. Icot2 xdx=

wod Apnysqasq mmm//:sdny

(A) colx—-x+k (B) 2cot X
(C) —cotx-x+k (D) +cotx+k
3
34. xdx =
O
w3 B 9
9
© 3 D) 7
35. Jz(xQ +1)dx=
; 14
A3 ) .
L 1
O 5 O 3
[121/327 | J [(A]-9003-Jwo) | Page 10 of 32
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36. I{:/zcosde=
w0 | !
n
© o (D) 2
1 dx__
37. IO;C—:_XT'
" g2 (B) ~log2
(c) 2log2 p) 21082
38. f;ﬂlogcotﬁ-d{’:
ris
(A)  7log? B et
(C)  2nlog2 o 9
n/2 _
39. Lﬂ/zjcosxldx-
a2 (B)
© 0 (D)
n/2___cos® _4g=
40. I‘o c030+sin9d9
n
A 7w ® 3
- I
(S U
41 I LeXdx=
0
(A) e (B) e+l
C) e-1 (D) 1l-e
(A)-9003-Jua0) | Page 11 of 32
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d I
42 dx x:::, co:sSx}:
1
(A) -sin3x (B) }
D
(C) - 3sin3x (D) :
d =
43. .&;[J;] .
‘ B Ve
& T . |
| 2 .3/2
. (D) 5x
‘ 2Jx
44. cos_l(Qx)+Sin'1[2x}=. ............... 2x e|-1, 1]
B =
(A) g B 3
(C) T (D) 0

45.  sin"l(-x)=

(A) % —sin"'x

(C) —sin"lx
46. Cot_i—l— P I ,(X>O)
X
(A) -cotTlx

(C) tan " x

(B) sin”} x

(D) Z +sin X

1
(B) tan >

(D)  cot™" x

B 70

¥b) 0

[121/327]J [(A):9003 o
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w  [&9](7 5] -
W [29 @ (88
o [3 2] M [} H
49 ad;!SxF
A) 5 ®) s
(©) iasgxg (D)  5%.log,>

(B) zj[f ¢(x) dx

(cy O D) 1
x+1 W m2
51 afe w2l @°=1 T | © x + ®2 1 —o@l x=
2 1 X+
(A) O B o
© o D) T | S W
x+1 ® 02
If o1, wl=land| ® X+ ®2 1 |=0 thenx=
®? 1 X+
A) O B o
(C) o (D)  none of these
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52. gfe A___[cosu —sinuJ S icd A.;A':;_l‘?f'{ T

sina  cosu
Ay n B) 3
© =F © €
If A:[(;?ﬁf; ‘j’é’s‘g] and A +A'=I,, then &=
a) o« ® 3
© F O &
53 AU i AT & A A + A FTEEE B
(a) @ SR p T wEEE e
(C) FHE T o) I IE

A is a square matrix, then A +A'is necessarily
a skew symmetric matrix

a symmetric matrix (B)

(C) a unit matrix \)Df a zero matrx

54. AR A=H‘ ‘1}] B=B ﬂ R A2=B,d r=

A -1 B) 1
c 4 D) T § HE T
[r 0 1 0 _
If A—[l 1], B=[2 1] and A% = B, then A=
A -1 | B) 1
) 4 e (D) none of these
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ss. afg A:[(l, ?J'Fﬁ

(A) A Rt B 1AI=0
(C) a1 e T E ) i 3w
If A{cl) ?] then

®) |Al=0

\M A lexists

(c) A ! doesnot exist (D)  None of these

o Feeh qer w0 ol g AR A HET E
a1 ®) 2
© 3 (D) ¥4

The number of unit vector(s) perpendicular to a plane is

(A) 1 https://www.bsebstudy.com (B) 2

© 3 \/(D( infinite
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N _ - -
A) a.b=5 B) a.b=-5
© a.b=0 D) T ¥ HE
- T - - = - :
Ifa=2i-j+2k and b=-1i+ j-k,then
r— - -
(A) a.b=5" B) a.b=-5
- -
(C) a.b=0 (D) none of these

121/327 | J |(A)-9003-Juo) | -Page 15 of 32
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I:
% ® O
) 1
: ' (D) 71
(C) a
59. 1 x k= .
® O
(A) 1 .
\}(2/ 4 (D) - J
J
— —»
60. axb= R _;
dﬁ/ Py ; (B) - bx
X .
p.a
b D
= (C) a.b (D)
§ 2
= 61 cos™! 1-x - {|x|<1)
é - 1+x
i x
: A 2cos X (B) 2sin
4 N -12x
. -1 (D) tan
% (C) 2tan X
= .1
< 62. 3sin”lx= .o Jxl€5
o, | 1 .
5 (B) sin  (3x+4x )

(a)  sin”'(4x® - 3x)

(€)  sin~'(Bx-4x°)

-t ¥, _1 -_I
63. tan'| ==
()

(A) (B)

oA

s
3

o 5 P s

D)  sin '@x7 - 4x)
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64. sin{scc"lx+coscc_lx}=
i B 0
(A) 5 (B)
) -1 (D) 1
65 Qtan']i—-ﬂan"];—:
u B
(A 5 B)
= D 2
(C) 4 (D) Tt
1 2 a4l
66. QR |3 7 9 HI A&
4 8 16
(A) 23 By O
) 1 (D) T Q FE TRl
1 2 4 )
The valuc of the determinant |3 7 9| 18
4 8 16

(A) 23 | BT 0

(D) None of these

(C) 1
1 b+c
67. Wﬁ?ﬁ!l b cia|FAAE
1 ¢ a+b
(A) (l1+a+b+c) (B) (a+b+c)
(€ 1 (D) O
1 a b+c
The value of the determinant |1 b c+alis
11 ¢ a+b
(A) (1+a+b+c) (B) (a+b+c)
c 1 D) ©
. .

[121/327 ] J [(A)-9003-Jaor] Page 17 of 32
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ety 7 11 13
°8. % [17 19 23| s oA R
29 31 37
(B) 36
(A) -36 o
(C) 20 o) 4 :
7 11 12 ‘; _
i is
The valuc of the determinant %’g g‘;{ 23
A - 36 B) 36
o (D) none of these
(c) 20

6o, afk A:[__% .“{',ﬂuf A3 =

A) 34 (B) 4A |
pef 24 ) A
IfA=[_i _%],then A3 =
(A) 34 (B) 4A
(C) 2A (D) none of these

a h g
70. 3R [ P fJ ¥
g f ¢
Ay foum gufaa smege B) @ SR
(C)  Udhith 3Tgg D) T Tl
a h g
Matrix | h b f | 1is
g f c

\/ﬂ/' symmetric matrix

(D) none of these

(A) skew symmetric matrix

(C}  unit matrix
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71. :{({—(lnngl
: 1
1 ® Tz
W
© 3 o F
2x
72 d —(sin2x) =
dx~ 2
(A) 4 sin 2Xx (8) deos” 2
(C) 4sin2x () 2sindx
73. c%c~(ce"‘”“) =
tAJ ex"'(.] (B] (x B a)ex-‘a
(C) ex (D) e
_ 3
74. E—%{ x*)=
dx o
a)  4x’ B
D 24
(C) 24 x ()

75. _c_i_[ x2+ax+1) =

2x +a_
x+a \}B(
(A) = 2 yax+1
e oA x? +ax+]

2x+a (D)
N2 +ax+]

C
(© _ ,/;2+ax+1

d 2x 1y _
76. (%€ )
2
0e2" B e

- @ | |
\}CJ/ 4e%x @) 2

wod Apnysqasq mmm//:sdny
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77. a4
dx A{log x' )=
\}m’ 1
xfl
\ 1
(C) pe

7. afe A=la,b,chB=l

) e s

) FHHE FDEE

f A=ta,bc},B={123

function is f7?
(A) onc-onc into

many-one onto

79, AR f:R >R, SEI [
A L(x+4)
3
(C) 3x—4

If £:R — Rsuch that flx)=3x-—

1,2,3} &N F={(a1)(p,2),t02)

} and f={(a,1),(P2)

(B) n

o

}-‘:ﬁIWW%?

s AN
Qﬁmﬂﬁ

(B)

(D)
{c,2)}

(B) many-one into

(D) one-one onto

x}=3x—4,?ﬁ f‘lix}wmﬁﬁﬁm ?

(B) -é—(x-‘”

(D) ﬂﬁﬂ[’fﬂﬁ

4 , then which of the following is f “}x) ?

® (x4

then what type of g

Lu00'x(pm,sqesq'mmm;/:s'duq

-
Ay Flx+4)
Jﬁ]/f 3x-4 (D) . undefined
80. cos.(;c*l (- x)=
(A) T _ cosec™x (B) n - cosec X
(C)  cosec™'x | (D) - cosec ' x
(A)-9003-J(40)
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81. afz :1. 4 _1;1 al ; ; =
(A} 1 (B) -1 .
(c o (D) = | 8 A
f 2 LB, then @ .b =
(A) ! B -1
(C) o (D) None of these
82. 1. ;j?x;';=
N B 1
(c -1 o)y 2
83. Ilogxdx=
(A) Lik (B) xlogx+k
(C) xlogx - x+k (D) - xlogx+x+k
A2
&84. n =
a0 B 1
-1 (D) n
85, @wmx,yahzmﬁmﬁw%mm: a, B3 y T AR €, A
(A) cos?a+cos2p+cos’y+1=0 B) sin?a+sin?p+sin?y=1
(C) cosza+cos2;3+c0321'=2 (D) COSQG+COSQB+COSQT= 1

If a line makes angles a, pand y with the positive directions of x,

y and z axes

- respectively, then

si112c1+six12 B+sin2 y=1

(A) cosQa+c032;3+ c0521+ 1=0 (B)
(C} cos“a +cos? B+c082 'r=_2 (D) cos?a+cos’ B+ cos® =1
[121/327 ] J |(A)-9003-Jis0) | Page 210f32
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86. WE @i 2x 3y 2 30 ox Yy 4z % e =l w1 *

(B) 0

n
(A) 5
n
(C) 2 (D) 4
6O 6 Y- 4218
The angle between the straight lines 2x=3y =" # and ©X -
A 5 ® °
n
© % P

o7 iy A B 3R C AR A wEd #, @

(A)  P(ABC)=P(A)+P(B)+P(C)

(B) P(ABC)=P(A)-P(B)-P(C)
(C) P(ABC)=P(A).P(B).P(C)

(D) ¥ & Wi el
If A, B and C are threc independent events then
(A) P(ABC)=P(A)+P(B)+P(C)

(B] P(ABC)=P(A)-P(B)-P(C)

vgx/ P(ABC)=P(A).P(B).P(C)

none of these
88. P(A)+P(A)=
@A 0 B 1
-1 (D) PIS)

89. 1-P(A'NPB)=
(A) P(ANB) Vt{ P{AUB)

© (C)  P(A) (D)  P(B)
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QO Z - 3x + ay 1 ek A

e fop =@y x+y <4

xz0,y =20
2
(A) O By 12
(C) 16 (D) m@ﬁqﬁ
The maximum value of Z = 3x+4y
subject to constrair;ts x+y<4
x20,y20
is
(A) 0 \151/ 12
(C) 16 (D)  none of these
91. m:@gﬁmﬁaﬁwmwaﬂ?mwm%
x Y zZ_ x Y, 2z._
(A) E+B-+E-_O (B) =+ ot
c X-Z-2-0 D) T @ T
a b c
Standard equation of the plane in intercept form is
A x,. ¥Y,.z2_ x, ¥Y,z_
(A) a+b+c 0 (B) a+b+c 1
X
(C) Pl % - % =0 (D) none of these

(A) 6 B) 5v2
(C) 50 D) T A F @
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‘oin i8
the origi?
The distance of the point (-3, ~4. =2 ) from

(A) 6 ) 542
' )  mone ©f thes®
(C) 50
93. (—4.--3.?13ﬂ?{—1.1,#5]%?a°raﬁqﬁ%
A) 12 @ 13
) 14 (D) 4
—3.?]and(—1,1,"5}i5

The distance between ( -4,

13
a 12 ‘)5"/

. none of these
©c 14 (D]

g4, a4 R B < A, A p(%]+p[%)=

(A) O

(c) -1 (D)

If A and B be two events then P[%]+P(-%—)=

(A) 0 &/1

€ -1 (D) - none of these
95. %(sin 2x)=
(A)  cos2x | | (B) cos*;2 2x
(€C) 2 sin2x - | (D)  2cos2x

[121/327 )4 (A)-9003-J(0) |  Page 24 of 32
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d .. =
96. a?{ld.ﬂkx}
(A) sce? kx
2
scc” kx
, (C) =

97. I{x-!-'.?,]dx:

(B) k secC

2 x

(D) Kk sec? kx

(A)  (x+2P+k B Gtk
‘)Z/ x—2+2x+k (D) log(x +2)+k
>
98. .'.]3 dx =
(A) | 4 B) 2
1
,K,')/S D) 3
99, IOK/Q cos xdx =
(A 1 B -1
(C) O D)y 2
100. Isinx.cosxdxz
sinx
(A) -lein2x+k (B) DX vk
2
sin® x (D) cos” X i
@ =k 2
121/327 | J |(A)-9003-J0) | Page 250f 32,
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&vs - @ / SECTION - P
pe Qu“.

wer TY
Frqa?rﬁﬂﬂ?’{!shoﬁms s .
T wwmr g @ a0 aw g A0 1 FH @
gions. Each quesy

2 9% FufRa &1 any 19 ques 15x2=
Qu 1 to 30 are Short Answer Type. Answer T X
estion Nos. o 7~ ) '

carres 2 marks. 2

1. uﬁ'A[ﬁlc ;}‘:ﬁmpwml
AL 5

11 .

IfA—{x yJ.thcnﬁﬂdM-
2 2

x* y .

5 B @ x % HA A ST

(57 - 9

Find the value of x from the following :

(5 36 )

16 9 7 .
3. arfre (23 16 7 | &1 HF A &
32 19 13
16 9 7
Evaluate the determinant {23 16 7 |.
32 19 13

d :
4. ﬁ T, ST x=acos? O,y=asin20.

., d ‘
Find E% when x=acos?0, y=asin’0.

wod Apnysqasq mmm//:sdny

[ 121/_327 ] J [(A)-9003-Juoy |  Page 26 of 32

https://www.bsebstudy.com



https://www bsebstudy.com

5. o x24y2=3 F &3 (1,v2)

Find the slope at the point (1,

&7 HF FHeRTe |

a—-b b-¢c c-4Qa
6. s |[b—c c—-a a-=b

c-g a-b b-c¢

Evaluate the determinant

ooR

: n
o r lim r_
7. f nl—bm Z )

Evaluate

Find the area between the x-

Solve : tanydx+tanxdy=0.

wod Apnisqasq mmm//:sdny

Is the functi

8. x-3e7 3R 9F y=sinx B A

on f:R— R onto function where f(x)=2

ug ETeT TRt |

2, 2=
JZ) of the curve X +y°=3.

ao6g
aoo

I
RO
RO
!
oot

x=0ﬁx=nﬁ$%ﬁiﬂmﬁaﬂﬁl

axis and the curve y = sinx , from X = Qtox=m.

867 F1 : tanydx+tanxdy=0. ht‘rps:/f’www,bscbstudy.com

10, @91 BEH fiR - R onto & SE f(x)=2x > &1 |

x ? Give reasons.

11, fag R sin Y —tan™ X

Vx+a

1_Jx

Prove that sinT ——=tan
yx+a

-1 '_x_
a.

N

[V

[ 121/327 | J |(A)-9003-J0)
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2
2 2X
! 1 -11_-:.’.‘-]-—= =
12. rw # fo lan(%sin_l]—:z—'i—z-J--Efﬂs 1+x2 1-x
1 xz} 2x2
: |l X =
Prove that leln[—ésitfii‘g{:—_r+——603 1+x2 1- X% ﬁa%“ .
zgﬁ“ﬂ .
- Qﬁ endlcular 1o o
13. fogg =+ f& @ik (5, - 42;3ﬂ7[21d3(}21# | ar perP e
_ 4,2 )an ’
Show that the vectors [ 9,
another. . . R 3? . 4'_} * )
. - ; -
14 a)xf;f%-lﬁ_ﬁ—rc‘él.,?lﬁﬁ;a=21—'3k, b .
| ' » - d - .g__s-: +4J' .
Find a x b whcrca—-21f3k, R - E\‘i‘ :
afer @ AP & <
15. af a =(2,3,-5) AR b =(2 2,2), A a wveen the e
b (2,2.2) then find the angl®
b =(24,4

- —_
a and b.
16. gﬁa—ﬁ' y[]+xy)dx—xay=0'
Solve y(l+nydx-Xdy=0-
17. Bﬁﬁ +1 e*ty.

Solve : £i—B—'-F1=f3'1‘:+y- i
dx '

‘ . - —

18. fﬂ?ﬁ’ﬂ%(;+gJ.(rx-bJ=a2—b2.
-5 =5 - =

Provethat(a+b}.[a—b}=a2—b2.

19 GHHH Icoszxdx.

Integrate IC(}SQ x dx.

20. dx F:ﬁHIc_'I vid y =sin{log x}.

. dy .
Find I when y =sin(log x).

~
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21, g @i . ady o ydx xy.dy.
Solve @ xdy o ydx xy.dy.
- . [ =T o h 5‘;““[
b W we bl x 3R s @ weers fEn g @i 457 360
o AT 2 2

ST B | AR . a7e] F) werraren faen & ar fehe £a

and 60° with the pe
ike with the posiuve direction of

ysitwve direction of the

A straight line makes angles of 45°

x and y-axes respectively. What angle docs 1t ma

the z-axis ?
X Tel: ok B ?h-{
23. Wﬂzﬁwamaﬁﬁqﬁﬂ%x,yaﬂizﬁaﬂfﬁ sierEUs FA 3, 4
3 2
- 58|
e and z arc
Find the cquation of the planc whos¢ intercepls on the axes of x, y an
respectively 3,4 and - 5.
= \ 2
24, AR pa)=2, pB)- T PANB)I=5, P& 4) p(Z;) F _
-
o
If P(A)= P{B)-—and P(AﬂB}—-— then find P(-—) and PL——) &
‘ :
11 12 - s
25. fag &l 26 20 26|=0. . 2
65 45 20 =
o
o
23 11 12 @
Prove that [46 20 26 a
65 45 20 C
o
o
=

26. —g% fepTet 1o y=Jsin~/—£.
Find g%, when y=ysinJx .

. 2

dy - sin“ x
07 SY fyepet 99 y= _
dx . J Jcosx

sin2 X

.., dy
Find —=, when y= .
dx Y Jeosx

d gl

121/327 ] J [(A)-9003-Juor | Page 29 of 32,
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2
28. Wb FX [JT-sin2x dx.
*ntcgratcj T sin2x dx. .
29, J’"ﬂ‘(_lfﬁf_] dx T A A ol
0 x
Find the value of J".C_{l"—{-h-—)—g—ﬂ dx . 2
30. fag F{ & Ioﬂﬂlogtanxdx =0.
Prove that J-O”Qlogtan xdx =0.
£ weréta W9 / Long Answer Type Question® ¥\ vaw % foe
. ) \
mm31@33ﬁﬁﬁﬁmﬁlgﬁﬁﬁﬁﬁ4ﬂﬁgﬁw- . o

53 ¥ tions. Each
_ ny 4 questt

Question Nos. 31 to 38 are Long Answer Type questions. Answer any 4 x5=20

question carries 5 marks. https://www bsebstudy.com

5
31. aﬁ' tan~! x+tan™" y+tan~ z_— Fﬁﬁqﬁﬁ&ﬁ yz+zx+ Xy= 1.

If tan"! x+tan~ly+ tan™! z=% , then prove that yz+zx+xy=1.

(b+ c)g a? a?
3. HEE HEe | b2 (c+a)P  b?
c? c? (@ + b)?
(b + c}2 a? a?
Factorize b2 (c+ a)2 b2
c? 2 (a+b?
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33. fag =ifsu fs 1 o . 111 2 5 3
(ABy '=B-1a-! =& & a=|1 2 3|,B=|3 ]} 2\- s
119 1 2 1)
_ _ 1 2 5 3
Prove that (AB) '=B"'A"! , where A=} é 3!, B=|{3 1 L’X-
119 1 21
dy ; 5
34 Egﬁa’ﬂﬁ,m xy+yx=1_
. dy
Find —= Yy =1.
dx,whenx +y” =1 ‘
5

35, @aERed FX [tan® xdx.
Integrate Itan4 xdx.

: d
- 2 _ 2-—5-=
gl &L - (x Y )3y 2xy -

W
o

d
ygld_?c‘ =2xYy .

o % ane & (3, 1,-4)

1, - 4) with respect to the plane

Solve : {x2 -
=7 AiatsE i FAT

dd 3x+4y-5z=

W
N

Find the image of the point (3,
3x + 4y - 5z =2.

wod Apnysqasq mmm//:sdny

|
%

Adfh x + 2y <120

x+y=260
x-2y=0

x,y20.

\
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Maximize and minimize Z -5X* 10y
. 0
subject to x+2y <12

x.+y?60
x-2yz0

x,y?_o‘

ﬁ
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